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Rather, 1''1 said, we place the two against, etc.

OVERVIEW

The Xn»72 taught that if two 27y testify on a o™pn 0w that the “vwa 7Y
were 0°0p ,(NIWD1 NAnn) Q°01UR or MTY *2109, the 2220107 0°7Y are not believed
(that we should destroy the 7vw). 1"1 explained that the 70w has a 77 of °7n
"M and we cannot collect the debt with this 0w.

There is a dispute (elsewhere) in a case where two groups of 0>7¥ contradict
each other, if each group may testify independently in other cases, or
whether we say that since one of these two groups of 2*7v lied, they are
disqualified from being 27V in other cases as well. We do not know which
the lying group is, so both are disqualified. The opinion of (X177 27 and) 1"1
1s that each group of 0°7¥ may subsequently testify in other cases. NMso1n will
initially compare and then differentiate between our case here and the case
there.

nooIn asks:
= NYVVYA 192 199259 KXY ININ 19N 2999 9IRN ON)

And if you will ask; according to 1''%, why do we not collect the debt with

this "vw?
= [3,8Y 97 x93 N23] (10 Maw) NIID 29I 920 12N) 239 NN

For 1'% maintains as 7''" does —
= MOV) MINY 293 AN NNN Y9 21? NN HMHYININD DY *Hd »NVva

Concerning two groups of witnesses who contradict each other; the
ruling, according to 1"71 7"7, is that each group may come independently

of the other and testify; we accept other testimonies (that are not related to their
contradictory testimonies) from each group, as long as the witnesses of each group

remain within their group and do not intermingle with each other” -
= 1Y DAY NDYDD NNYAN NNN YD MTY 29547 23 bY 9N

' Seemingly this Moo should precede the previous " 717 '0IN.

? It is obvious, therefore, that the witnesses of one group are testifying falsely, and therefore are not suitable
to be witnesses in the future as well. Nevertheless, since we do not know which group is the lying group,
we place each group on their presumption of innocence (NM1w> Npin) and consider them to be 0w o7y
concerning other testimonies.

? If an 7v of one group would combine with an 7v of the contradicting group, then their testimony cannot be
accepted. One of these 0*7¥ certainly lied in the contradictory testimony and is therefore M7y 9109.
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Even though that according to the testimony of each group its
companion contradictory group is disqualified for all other testimony; each
group it saying by implication that the other group is lying and therefore (besides that we
should not accept their testimony in this case), they should be permanently disqualified
from being 0°7¥. Nonetheless the ruling is (according to 1" 7"9) that even though we
cannot resolve the contradictory case, we accept any other testimony where these two
groups (or any other groups) do not contradict each other —

= 0195 MY NIY 9210 DN 1PYININ PNRT 1193 923 NIN
Here too, where one group claims that the 0>7y were 0°71091 0°1vp, and there
1s an °7770 7AX that contradicts them and claims that the 2w 7Y are 2W2, we
should follow the same ruling here as by 7 NX 7 MW non7 27V N1 21w, since
the 0°%01977 07 are not contradicting the "W >7v, and saying that the Mm%

did not borrow anything; the o°5017 7y are not testifying concerning the loan
whether it took place (as the q0wn >7v are indeed testifying), or not -

=902 N2 192X KXY INNINI 0NN 0IIDIT NT 93272 DININI DIIN DIIMIIN NIN
But rather the 0°501977 0°7Y are testifying that you (the “vwn >7v) are not to
be believed concerning this loan, for you were disqualified to testify;
either because you were 2°10p or M7y *7109, etc. So why do we not collect
the debt with this 9ww?! The contradictory testimony is only concerning the status of
the 2>7v. We cannot conclude whether or not the W "7y were Q° W), since this is a case
of 11 nX 171 oW nona 27y °nd "1w. However concerning whether or not there was a loan
there is only one group of 2°7¥ that are testifying; namely the 7vwa >7v who claim that
there was a loan. This is (seemingly) a ‘new’ case, where only one group of 27V is
testifying unchallenged. There is no reason not to believe them (according to "7 1"9)
that the loan took place.”

n90IN answers:
= VY NNYY 2392 NNN Y NN DNNT 9219 W

And one can say that there by 121 0>7v °n> "1w, the reason each group may

come independently and testify, is —

- MU RPN NNN Y3 199977 DIVN
Because we place each group in a presumption of innocence; we assume
that each one individually has a mw> npti. Before this case, each of the 07y was

* One cannot argue that since there is a doubt (on account of the 701 *In) whether the 0w 7y are ™MW,
therefore we cannot accept their testimony; for in every case of 121 mwnona M7y °nd> nw, each group
claims that the other are m7Ty *7109. There is in fact a ppo whether or not they are m7v 209, and
nevertheless they are believed in other testimonies (on account of their M w> npi). The same rule should
apply here. They should be believed concerning the loan even if there is a P50 that they may be n7v *>109.
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presumed to be 7w>. This M Ww> npin supports them so we cannot disqualify them poon.
Therefore they can testify in other cases.

=IPNINMY NNY 1Y 1TINYN 022197 IN 191 DNVP DIIMINY XON YaN
However here, that the 2201977 0>7v claim that the "W 7V were minors
when they signed the 0w, or the 0°%0197 0>7v claim that the W 7V were
relatives to one of the parties from birth until now, when they became

distanced, they are no longer related,” therefore -
- YT91UM YN 19PTD9T ANNPINN 1NNDIN 915 XYY

We cannot say: ‘place them on their presumption of nM17w>’, for the 27y

0°%0071 are disqualifying them from birth. In the case of "1 o7y °n> *nw each
n> is 019 the other n> from this testimony onwards. However since it is >0 *3n, and we
are not sure which n> is 9109, therefore there is a Ppo. We say that each n> has a npm
mw> from before this case, where even according to the opposing N3, at that point they
were 0> 0°7Y. Therefore we accept their future testimony on account of this npm
maw>. In our case, however, the 0501971 0°7Y are testifying that the Q0w >7v were either
0°1vp, in which case there is no prior Mw> npm;6 or that they were 0°217p from birth, in
which case there is also no M w> np1i. There never was a time when we know for certain
that the "vwn *7¥ were W2 to testify on this 7vw. When the opposing testimony does not
allow for a m w> np1n, they cannot be believed to claim that there was a loan. They have
no M w3 npin for the time when the loan took place, since the 0°%01977 0>7¥ are claiming
that they were 7105 then, from the time of birth onwards.

mooIn anticipates the following question; that by the claim of Mw»s1 nann 01K, the *Tv
own do have a mw> npin. Before they signed on this 01X nnnn WY they were 7y
o wd. The 0w *7v should be believed that there was a loan.” moon explains:

= 595919 %DV XY XNT NPINNR MPIND 7Y R Y NNHNM 2133 191 DI0NIN)Y

And also in the case where the 0°70;1 0°7v claim that the 0w >7Y were
WDl namn 2%01IR, we also cannot believe the 7vw: °7v that there was a loan;
it is not possible to place them on their nM7w> npP and therefore believe

them, for the 2°5019:1 079 do not disqualify at all the ~vw: >7v. The reason the
TwnomMa 0°7Y are believed to testify in other cases, even though they are contradicted and
considered o°9109 0°7¥ by the opposing N> is because since there is a po0 if they are 0°7100

> See DX 71"7 2,0> MoOIN, that we must be discussing a case where they say that yran1 7ny. It seems from
moon that if the 0501077 07y stated that the qwwn 7y were 7109 for they were o°vwn or that they became
related to each other some time before the 70w was signed (but not from birth), in which case the w1 >7¥
do have a mnw> npin (from before they became 2°ywA, or from before they were related), then we would
collect with this 70w as in a regular *n *7n. See footnote # 8 and ‘Thinking it over # 2.

% Even though there is a 7P that 21732 AWyl 3"RR PPN 2°7Y PR, nevertheless that is not a MW NN in
these o7y, rather it is a P11 regarding the 773717 of writing a 0w (see /"W 0"7nM).

7 See ‘Thinking it over # 3.
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or not. The MW np1n resolves the P90 in their favor. However here the 2°%0197 077y
claim that the 0w 7V were MWl NHa 201K and the 770 1K claims that it is a valid
7vw; there is therefore a Po0 whether or not they were nMws1 nann 0°01R. There is no npn
mAw> that can resolve this po0. The 2°910977 0¥ are not impinging on the integrity of the
“uws 1.8 Since there is no MAwa npin that can resolve the issue; therefore the poo
remains a P90. We cannot accept testimony when there is a p20 if this testimony is true or
not.

mooin offers another explanation why we do not say here 17 npInR "2pIX:
- 9f|i7thN 1Y 19071 NI XINT 99N DNHAN )2 PYNRY 19)

And the R''2w9 explained that here we do not place them in a m~w> npn

because —
10, me913 1919 N1AYY P NN IDIRT OIVN HIYY 9INTH

As the X713 previously stated ‘because if the "vw: 7Y would be before us

perhaps they would have admitted’ that they were 2°10p ,0°01% or M7y 085,
Therefore it may not be considered as >0 *7n; but rather there is only one group of 27y
that is clearly stating that the uwn >7v are 0°709. It is possible that the qwwn 7y would
agree with them.

SUMMARY

The rule, that by ¥ nX 1 MW nana o7v °n> "W they can each 7YY *191 AN
77°vnY, is limited to situations where the contradictory testimonies allow for
a Mw> npin. However if the testimony does not allow for a mw> npin (or
does not impinge on the MWD npn) then they cannot testify.

Alternately they can only testify if they openly contradict the opposing 27y,
not if their contradiction is merely assumed (by a 770 13X, etc.)

THINKING IT OVER

1. There seem to be differences between the case here (q0wn %y 27INNT 2°IW)
and the case there (by 01 °7n):

A. Here, the 0201977 0°7v are testifying directly that the 0w: >7v are 0°2109
(and their intent is to be 901 the 7ww); there, the o7y are merely

8 It would seem that if the 0°9019;71 07V would claim that the q0w: 7Y were 17 Nanka 0°0R, then we would
be able to collect with this 70w on the basis of the n1w> npin of these 2>7¥ that they would not sign if it was
‘merely’ 1vn nnnn ook, See footnote # 5 and “Thinking it over” # 2.

? According to the answer of the X"2w", there would not be a 7ip1 even if they testified that they were D°vw"
or became 0°21p (and not necessarily that they were 1721uwn 0°2117). See footnote # 5.

' See “Thinking it over’ # 5.
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contradicting each other concerning the case; the m>0o (for other cases) is
merely implied.'' The 1"x1 Pw°nana 07y have no known intent to be 01 the
opposing 27V (for all future cases).

B. There, the opposing 0*7v are explicitly contradicting each other (and
therefore implicitly stating that the opposing 2’7y are 2°9109 and cannot be
%019 others); however here, no one is directly opposing the °%01977 0*7v and
claiming that the 0w 7v are 2°Ww>; it is ‘merely’ a 770 IR that the 0w was
done mawoa."?

C. There, the m7v which will be accepted lies in the future; here, the m7v
which M»oIN wants us to accept is in the past.

D. There, the conflicting testimonies cancel out each other and the npm
mw> (which was never invoked) remains. Here, the >770 7aR and the claim
of the 0201071 0°7¥ seemingly cancel out each other. However the >770 71X is
seemingly based ‘merely’ on a presumption of M7w>. Once the *770 71X and
the 0701971 0*7v cancel out each other there no longer remains a M w3 np1n!
The m w> npri was ‘used up’ in cancelling the 0°01977 0>7v.

Are these differences sufficient to make a distinction 17597712 between the two
cases, and if they are, why does m901n not consider them?

2. Mmoo explained that when the 0°701977 0>7Y claim 1791Wwn 0°217P or D°0IR
mMwa1 nnnn there 1s no MWD NN to support the MW >7y. This implies that if
they claimed 177 M7Y °2109 because of N1%13, or 1°7 0°217p but not 1721wn, and
similarly 1% nann 1 001K, then there i1s a MW npin and we can collect
with the 70w as in n"in."> Why then does the X3 ask  Xvwas 772 j1723)
M1 NN R XHYn; perhaps the ®n*1a is discussing these types of cases
where the "0W7 *7v have a MW NP and we can collect even in a case of
n"in?!

3. mooIn explains that by 1°7 0°01X there is no impingement on their NPT
m w> and therefore we cannot accept the testimony of the =wws »7v."

'See *n 17"7I0 X,20 7RO

12 Is there a X120 that, according to X701 27 who maintains that n"in are 7°v77? 022109, then the 2°20197 DY
should be 7°¥72 2100 since there is a "IN against them on account of the >7770 13x?! ("1 1" *0n).

13 See footnotes # 5 & 8. See q'"w " nn.

' See footnote # 7.
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Seemingly in the case of 177 0°01X, there never was a question initially that
the “vw:i *7v should be believed. The 270197 0>7¥ are not merely claiming
that the 0w: *7v are 7°vn? 0°9109, but rather they are claiming that there was
no loan. This is the simple meaning of i1 0°01X; they were coerced to sign
on the 70w (by the M1, etc.) even though there was no loan. Otherwise why
was there a need for coercion?! How can there even be a X" that the >7v
Tuwi1 should be believed when the 2°901971 ©°7v claim there was no loan?!!"

4. mooin initial question is that we should believe the q0wn 7y that there was
a X171, Does N1D0IN mean to ask that it should be considered as a 79 v 7191
or a w2 71?2

5. The &"awn explains that there is no M W2 NP1 since it is possible that 19°R
17 NI Xn9T P 1.7 However, their axTi cannot (seemingly) destroy their
mw> npin, for it will be considered as 27321 2711, which is ineffective!
We will not consider them as "2 oap!'®

15 See 2py> nma.

16 rewy 1w NYMIR YT MW Y.

17 See footnote # 10.

'8 See 7"w 0" and (2 P"'0 VD O N"IM) VOWNAT WW.
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